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1. BEBRTRR

X 9 BATEA A Y H AR BeEFEL R
i R PR ITAEILA 27H 109,293 80,678 73.82%
m % = # B SERITAELLA 27H 109,293 80,680 73.82%
il I EREISAE 4H 16 H 108,645 35,963 33.10%
= & B m =& FR19%E 47 8H 108,995 61,399 56.33%
= =2 R #®E & # B FRE194E 4H 8H 108,995 61,337 56.28%
i B (EEX) FRL194E TH29H 109,568 65,149 59.46%
Z ok beak B (B IX) ERCL9E TH29H 109,568 65,149 59.46%
Kikbrig B (Vg X) Epk214: 8 H30H 109,072 79,563 72.95%
Kkl B (AR &) Epk214: 8 H30H 109,072 79,552 72.94%
il 3 FRE214E11 A 15 H 108,288 72,433 66.89%
mo#E 2 % AR FRE214E11 A 15 H 108,288 72,437 66.89%
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BEEEX 4 [0} 7 BEEX 4 [T L 53 7
¥ if i i 93 112 205 — 2 KX 3 T H 237 333 570
F R 4 E F N 51 65 16| g Z K 4 T B 244 261 505
£l ooz W oW 66 85 151f T — ¥ K 5 T H 352 413 765
F VB W HE 1T H 201 230 431 I 2 1,080 1,280 2,360
#® & F R W HE2 T H 180 218 398 W% 2 T H 466 528 994
F R OWM OH 3T H 464 569 1,033 EA%2 9w % 3 T H 222 267 489
R ET BN B — 12 12 24 N B 688 795 1,483
oA BT o — 94 86 180 VN iy 171 213 384
7N 2 1,161 1,377 2,538 = % 1 T H 108 135 243
R R TR 45 E F OE 27 28 55 — & Wy 86 96 182
[ N BT 430 527 957 B W OB R 176 214 390
H Z BT 236 290 526 X # i 1 T H 71 74 145
1 BRSO RT OB RN B 313 346 659 JEAEFE3 K # & 2 T H 102 138 240
- oA BT o — 164 188 352 X FHF 3 T H 134 159 293
Mo BT > — R 144 157 301 x # & 4 T H 222 253 475
/N z 1,287 1,508 2,795 B 1 T A3 193 250 443
iy Ol BT 282 372 654 w2 T B 193 250 443
A JLiS = iy 56 76 132 N 7t 1,456 1,782 3,238
% B 293 380 673 = B 1 T H 177 225 402
BilEF2 M EAERITO— 29 33 62 w B 2 T H 105 139 244
B OH OB o — 655 715 1,370 %" = Wy 115 135 250
WOES BT o — #5205 241 446 o 1 T H 265 334 599
N = 1,520 1,817 3,337 o 2 T H 178 221 399
JEeA - B 215 271 486 B W 3 T H 193 207 400
M A< 1 T H 263 283 546 i N T 1 3 4
M A 2 T H 301 390 691 W o\Be 1 T H 126 165 291
O 5 1 M A 3 T H 259 310 569 ﬁ{ 0 2 T H 174 212 386
B JII my 36 43 79 wm B 3 T B 164 205 369
2 H BT 821 962 1,783 /N 7t 1,498 1,846 3,344
OB OH o — 94 108 202 wm o 4 T B 476 564 1,040
/s 5 1,989 2,367 4,356 - &% 1 T H 195 233 428
e b iy 5 7 12 - & 2 T H 77 108 185
H=om o1 T H 258 332 590 s — &% 3 T H 166 237 403
s oW o2 T A 124 185 309 % - % 4 T H 73 73 146
M2 = W 3 T H 147 165 312 i+t A B 1 T H 174 229 396
w k1 T B 134 172 306 i+ A B 2 T H 186 204 390
w F 2 T H 350 501 851 /I it 1,347 1,641 2,988
/ 2 1,018 1,362 2,380 5B 1 T B 196 231 427
W 1 T H 184 238 422 BB 2 T H 317 366 683
e oW 2 T B 314 380 694 mEge e Il 1 T A 229 274 503
' oW 3 T B 231 266 497 = JI 2 T H 141 209 350
/I &t 729 884 1,613 /I B 883 1,080 1,963
w 9T 1 T H 552 644 1,196 — 15 iy 80 192 272
AiEE2 M T 2 T H 516 600 1,116 it UN = BT 206 249 455
N &t 1,068 1,244 2312] b e T A B 3 T B 409 432 841
fs L 3 T H 464 567 1,031 W o0 B oo — 3 6 9
HiE#E3S M L 4 T H 697 758 1,455 “RA4ATHD—E 3 24 27
N &t 1,161 1,325 2,486 7N B 701 903 1,604
EAEL % i ; $ E }fg }gg Zg K OJT F 17,613 21,239 38,852
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R214E12H 2 A BIAE
BEEX 4 W4 ] 58 B BEEX 4 m 4 5 58 #t
i #t w593 565 1,158 HBARE3 | iy i) 39 48 87
7 r o BT 331 397 728  WBAE4L R FF i) 46 53 99
FL % ;'; ﬁ ii; ggi lggg X HT RF(EPATETERS) 19,250 21,198| 40,448
T 2 WY 527 575 1,102 - ROHT & R 213 211 424
/I B 2,483 2,647 5,130 —RH&E1 | 5, L 193 202 395
X B K VS BT 1,439 1,589 3,028 /I &t 406 413 819
#MoE A E A W 349 379 728 T OROET W o — #B 624] 666 1,290
M A 1 T H 113 124 237 R R B 4 — @ 522 597 1,119
M A 2 T B 111 136 247 N B 1,146 1,263 2,409
AR 1 M A 3 T H 104 124] 228 — A OH X B 310 361 671
- M A 4 T B 126 134] 260 — R E = HE 306 347 653
M A 5 T H 162 187 349 — R3 ZORVET R O — 5 22 21 43
M A 6 T H 94 99 193] —F - B, T E 485 538 1,023
/I 2 1,060 1,183 2,242 TR o — B 18 18 36
= WA WY 775 845 1,620 N B 1,141 1,285 2,426
e 8 WY 419 509 928 “RETLHEEO —# 177 219 396
- H I BT 341 359 700 — A OH %N 331 406 737
/I H 1,635 1,713 3248 Z—R&E4 R AT W o — & 61 59 120
wRE3 | — 0, W7 497 592 1,089 — R OET & o fif 296 324 620
JE& H BT 938 1,035 1,973 7N B 865 1,008 1,873
EAEL g% i :? égg éi; i;? R R A X PTG 3,558 3,969 7,527
7N B 1,307 1,450 2,757 A% BT ® mi 702 846 1,548
x = W 358 410 768  /MRE1L N{RET AET O — #5 1,039 1,155 2,194
HAD 1z N BT 204 233 437 7N B 1,741 2,001] 3,742
H A W7 269 321 590 /MRE2 /N {® W & WP 1,571 1,763 3,334
/I H 831 964 1,795 INRET A A& O — B8 444 459 903
i) = i BT 969 1,068 2,037 IMREES UNAR BT KRBT O — £ 512 571 1,083
fil i i) 67 76 143 7N &t 956 1,030 1,986
Bl BT 286 313 599 INRET A& O — B 173 203 376
WO o — 5 2 3 5 /SR BT B BF > — EB] 471 322 793
/I 2 1,324 1,460 2,784 AN RO % H 753 798 1,551
OB g W7 74 815 LSS6| g n.e, /b fROET T AR 206 221 427
95 450 i Ji BT 126 154 280 IS AR BT RS — ] 2 3 5
- v T oo — B 1 1 2 AN R ET T A EOET 7 7 14
N B 868 970 1,838 ANREN - S il 11 10 21
wElr A T BT 602 669 1,271 /I #t 1,623 1,564 3,187
A A W7 938 1,028 1,966 g A iy 56 77 133
g2 W K 3E T o — 5B 36 41 771 MRES /N R BT B B oo — #B| 1,477 1,560 3,037
/I H 974 1,069 2,043 7N &t 1,633 1,637 3,170
oA gL o OB LN ke & % B AOBEIAL) 7420 7995 15419
%3 - . e -
A o B o — 61 63 124 HEHE1L | EE & Mmoo —§ 722) 863 1,585
NF 858 915 1,773 MEE2 O H m AT & o — & 580 641 1,221
W1 I Hh BYl 1,071 1,104 2,175 wom MR OB 646 718 1,364
S 2 BT 339 398 737 MEEs H O£ B 309 364 673
ol ZH BT 600 643 1,243 /I #t 955 1,082 2,037
WHEE2 it Wy 212 240 452 B WP ¥ Bl 454 498 952
F oH W oo — & 229 238 467 A Moom BT R f& 385 429 814
AN 7 1,380 1,519 2,899 Gl oo E N kR 237 270 507
HH FF BT 267 320 587 /I #t 1,076 1,197 2,273
TUaRHE 1 ﬁﬁ = " i ﬁ gz ?gg 1’232 o A& X pr it 3,333 3,783 7,116
/I B 1,077 1,255 2,332
a2 R fig W7 580 647 1,227
USRS i BT 494 515 1,009
HARE + B BT 498 541 1,039
= JEE BT 235 232 467
HARFE2 |4 ] L 53 63 116 woAa F 51,198 | 58,184 109,382
/I g 288 295 583
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